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Consider the following statements regarding organisation of Parliament under the Constitution

1) Parliament of India consists of the President, Council of States and House of the People.

2) In 1954, the Hindi names ‘Rajya Sabha’ and ‘Lok Sabha’ were adopted for the Council of States
and the House of People respectively.

Which of the following statement(s) is/are correct?

a) Only 1 b) Only 2 c) Both 1 and 2 d) Neither 1 and 2

Which of the following matches is incorrect
a) Emergency provisions - Gol Act of 1935
b) Judicial review - US Constitution
c) Joint sitting of Parliament - Canadian constitution
d) Rule of law - British constitution

TRPV1 channel proteins, associated with
a) Receptors for temperature and touch
b) Gene editing tools
¢) Recombinant vaccine
d) GM mustard

‘R2 code of practices’ recently seen in news, refers to
a) Maintenance of wetlands
b) Electronics recycling
¢) Human trafficking

d) Arms control

In which of the following sectors 100% FDI is allowed
1) Insurance
2) Telecom sector
3) Mining and exploration of metal ores
Select the correct answer using the codes given below
a) 1and 2 only b) 2 and 3 only c) 2 only d)1,2and 3
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Consider following statements regarding fishing cat
1) InIndia, fishing cats are only found in mangrove forests of Sunderbans
2) Population of fishing cat increased over the last decade
Which of the following statement(s) is/are correct?
a) Only 1 b) Only 2 c) Both 1 and 2 d) Neither 1 and 2

‘Dehing Patkai National Park’ is located in
a) Arunachal Pradesh b) Assam c) Meghalaya d) Manipur

India is signatory to which of the following treaties

1) Comprehensive Nuclear Test ban Treaty(CTBT)

2) Non-Proliferation of Nuclear Weapons (NPT)

Which of the following statement(s) is/are correct?

a) Only 1 b) Only 2 c) Both 1 and 2 d) Neither 1 and 2

Battle of Saraighat is fought between
a) Mughals and Ahom kingdom

b) Mughals and Marathas

c) British forces and Sikhs

d) British forces and Jats

Consider the following statements about Budapest convention

1) Itisthe sole legally binding multilateral treaty on cybercrime

2) India is signatory to the convention

Which of the following statement(s) is/are correct?

a) Only 1 b) Only 2 c) Both 1 and 2 d) Neither 1 and 2
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